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2t RE1TH 60 73 133 B A HT 29 26 55
H/HEI1TH 142 176 318 fRERT1TH 160 179 339
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JEET2TH 20 34 54 INEE 638 711] 1,349

A KHET 39 67 106

INEE 1,116] 1,455/ 2571
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KREVET 450 489 939

EXB4TH 223 255 478

INET 888 992| 1,880
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53F 72 82 154 XE4TH 197 251 448
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L1EE2TH 274 310 584 ¥iB6 TH 274 275 549
+$EFE3TH 394| 448 842 $E7TH 425 427 852
L1EEATH 99 97 196 FA{EE6TH 345 374 719
INET 2,283| 2,683| 4,966 FER7TH 397 448 845
BEHE2TH 292 323 615 FA{EE8TH 423 557 980
$£11 |BEEHESTH 377 392 769 FA{EEOTH 376 444 820
EBEARER1TH 48 57 105 INEE 3,313 3,665/ 6,978
BE4EER2TH 293 347 640 $F16 |[@=H 3646 3834] 7480
BEARR3TH 69 61 130 A U 355 387 742
BEAERR4A4TH 65 62 127 INEE 4001 4221 8222
BEHE1ITH 124 155 279 $17 |LEES5TH 1 2 3
E46TH 133 155 288 L#%#8TH 30 41 71
LfEE6TH 10 7 17 i =40 85 84 169
INET 1411 1559 2970 SIS 1439 1643|3082
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INEE 1,147| 1,306/ 2,453 EyiE2TH 312 345 657
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%36 [EIRTEL 315] 414 729
/NET 315 414 729
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FEILRT /N 231 280 511
pepan:aeal 5| 213 231 444
INEE 448 515 963
&t 57,267| 64,295 121,562

R—HEANEHDOBRERICELTVSEENHYFT DT, FEL TS,



